
V SIGMAT - Simpósio Integrado de Matemática
Ponta Grossa, 27/06 a 01/07 de 2022

Simulado - III Torneio de Derivadas da UEPG

Calcule
dy
dx

.

1. y =
[
x · sen(3x)+ tg5(x4)

]4

2. y = ln
(
x
√

x+1
)
+

5√e2−3x

3. y =
√

cosx ·10
√

senx +(cosx)senx

4. y = aln(cos
√

1−2x)

5. y = ex2 ·cosx
3x2+πx

6. y = 1
2 · xsec2

(
sen

(
x

x2+1

))
7. y = 102x·tgx ·

√
x+

√
2+5x

8. y = cossec(tg(cosx)− xsenx)

9. y = 2θ +30ln [sen(θ + ex)− cosθ ], em que θ = θ(x).

10. arctg
(y

x

)
=

1
2

ln(x2 + y2)
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